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Instructions: + Be precise to your answer.
« Assume missing data suitably, if any

Note: All questions are compulsory It uy &IﬁHTEf%'I

QUESTION NO.-1

Answer any five parts of the following: [10x1=10]
A. aFind the value of (1+i)4(1-i)* 1
(1+i)*(1-1) 4T 9 J1d DI 1
b.Find the value of side c if <A=30 ,a=1, <C=45
e <a=30 ,a=1, <c=45 B Al Yl ¢ BT T AT BT

B. a.Find the value of-sin” ! x+cos™1 x = /2 1
If y=ax2+bx+c then dy/dx will be- 1
sin~! x+cos™! x = /21 HH JTd BT
e y=ax?+bx+c Gl dy/dx....... BITI-

C. a.Find the equation of tangent of y= ex ata point (0,1) 1
TH g (0,1) Wy= ¢ &) W BT THHRT 1 HifoTg 1
B.What is Sine rule? 9T+ o8 &1 52

D a.Ifx=cos +sin then 1|x will be- 1
aﬁx=cose+isin9?ﬁl|x6ﬁ"'ﬂ— 1
b.Value of Tan45 will be - Tan45 T A GRT -

E a.If a=2i+3j-k and b=i+2j-3k then axb will be- G a=2i+3j-k TUT b=i+2j-3k Al axb BIT- 1

1
b.What is Leibnitz theorem? dlafcs TG /172

F a. What is nth term of A.P 1
A.P HInth UG HTG? 1
b. If Y=xx find dy/dx
Tfq Y=x* dy/dx JTd B




QUESTION NO.-2

Answer two parts of the following: [5x2=10]
A. Find the Differential coefficient of -tan~!(1 — sinx)/cosx 2
-tan~1(1 — sinx)/cos x W%QWWWW
B. If W=-1/2 +Iv/3/2 prove that w3=1 2
C. If.X=acos @ 2
And y= bsin @ find d2y/dx?
QUESTION NO.-3
Answer any Two parts of the following: [5x2=10]
A. Prove that F(x)= { x2 sin1/x, when x is not equal to zero. 5
x=0, is continuous at x=0
B. Differentiate with respect x 5
y= log sin e (x2+4)
C. Find the coefficient of x 10 in the expansion of (x-1/x)16 5
(x-1/x)16 & [GWIR H x 10 BT UMD J1d DR
QUESTION NO.-4
Answer any Two parts of the following: [5x2=10]
A. Find value of :15 c1+15 c2+15¢3 +....eeeee. 15cn, 5
B. Find the sum of: 1+3x+5x+7x+......... 0 5
DT I [T PIT: [+3x+5x+7xF o
C. If vector A=4i+3j+k 5
B=2i-j+2K Find perpendicular unit vector.
Tfe JdeX A=4i+3j+k
B=2i-j+2K 9dd 3IPBIs ddex @i
QUESTION NO.-5
Answer any Two parts of the following: [5x2=10]
A. Find the value of Sin(Sin-11/2+cos %2) 5
T 1 B2 Sin(Sinl/2+cos %)
B. Solve by Demoivre theorem-x*+1=0 5
SHITIR JHT-x4+1=0 GRT § P
C. Find the sum of :3+33+333+3333+...ccccuuuuu n >
3433433343333+ .. .0u.n... 1IN JTd BT




